[image: image1.png]: /|:| B pE
1. BT

00:00:19

0.0 0.0 0.0




[image: image2.png]vE @2 = o G B0 09:51

THIRR

BT EENS S T AR Z

(HBAAFERLIBE, BGEERSTY)

[ w= ]





[image: image3.png]@ % = @ [ B0 09:53

ERAUTETH

350&%7@ ff RETHHE) e

£

D

RIFI=

oy Ut —x




[image: image4.png]e
ARAMNZES

HAEE =

505 7000RXT# 37.02MB

HETH

00:00:19

0.0 0.0 00





[image: image5.png]i FX

.

" 10:02 s

e @B @

B@
=

—RIE  OREE BEEE RSN  ESeE

@ FNERRIPFR 0.
SEIE
ERIBIREN
@
Bk UsB iFid

RIRATEA USB i

‘I" REXMHEE MTP)
AR USB B,

UH sxmp. Tasm s
5.

487,
SR




